®

JCL\ FITTING INSTRUCTION

PRODUCT : RECOVERY POINT
SUITE TO VEHICLE :TOYOTA VX 200 2016

PART LISTS

Bracket M12 x 1.5, 2 pcs.

P

Bolt M12 x 1.25 x 35, 4 Pcs.

S

Bolt M12 x 1.5 x 35, 4 Pcs.

®

©)

Washer M12 , 8 Pcs.




	Vx200 2016 Layout1

